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Q33b) 

Q33c) 

Q34a) 

Q34b) 

Q34c) 

Q34d) 

Q35a) 

Q35b) 

Q35c) 

Q36a) 

Q36b) 

Q36c) 

Q37a) 

Q37b) 

Q37c) 

Q38a) 

Q38b) 

Q38c) 

Root cells are underground and are not exposed to sunlight. Chloroplasts 
contain chlorophyll, which traps sunlight for photosynthesis to make food, 
which root cells do not need. 

The root cell has a nucleus while the bacteria cell does not. 

The greater the number of leaves, the lesser th'e amount of water in the jar 
after 2 days. 

22 ml 

To prevent water from evaporating and affecting the results. 

The greater the number of leaves, the more the amount of water taken in 
by the plants. 

Take both ball and stone out and measure the volume of water. 

Solid has a fixed volume. 

Stones are matter and matter occupies space. Some of the space taken 
up by the water would be taken up by the stones. Thus, less water is 
needed to fill tank up to level P and when flushing, less water would be 
used. 

The hot water evaporated to form water vapour. The warmer water vapour 
rose and came into contact with the cooler underside of the plastic sheet, 
losing heat to condense into water droplets. 

Add more ice cubes to make the plastic sheet a cooler surface. 

The water vapour in the box gains heat from the buns, rises and escapes 
into the surrounding air . 

. . 
It is a better conductor of heat and gained heat ·from heater ·faster ·and 
expanded for longer. 

The inner wall was in contact with the hot water and gained heat from it 
faster than the outer wall, which was not in contact with the hot water. 

Glass is a poor conductor of heat. The inner wall expanded faster than the 
outer wall. 

A. The temperature of the hot tea in it after 15 minutes was the highest. It
is the poorest conductor of heat and Cassie's tea will lose heat the
slowest using A.

35. The thermometer was taken out of the hot tea.

B. It is the best conductor of heat. It will conduct heat from he heat source
to the food the fastest.
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Q39a) 

Q39b) The holes in the wooden sheet are not placed in a straight line. 

N. The two light bulbs are parallel to each other. When one of the bulbs
Q40a) broke, the circuit is still closed for the other bulb, allowing electric current 

to flow through it and light up the other bulb, unlike in circuit M. 

Q40b) 
wire 

When the switch was closed, a closed circuit was formed, magnetising the 
Q41 a) iron cylinder. It then attracted metal bar P, allowing it to touch the iron 

cylinder. 

The bulb did not light up when metal bar P touched the iron cylinder as 
Q41b) there was an open circuit which prevented current from flowing though the 

bulb. 

Q41c) Electric conductor, non-magnetic 
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